
XERCISE SET 6.5 

- _ ~· ce Exercises 

Ernluate each determinam in Exercises 1-10. 

5 7 4 8 
I. 2. 

6 2 3 5 

-4 1 7 9 3. 4. 
- 2 5 6 -5 

-7 14 1 - 3 5. 6. 
- 8 2 2 -4 

- 5 -1 I I 
7. 8. 5 6 

- 2 -7 -6 5 
I l 2 l 

9. 2 2 10. 3 3 
I _J I ;l 
8 4 -2 4 

For Exercises J J-22, use Cramer:S- Rule to solve each system. 

I I. 12. 
{

X + y = 7 { 2x + y = 3 
x - y = 3 x - y = 3 

13, J ] 2x + 3 y = ] 5 
14

_ { X - 2 )' = 5 
l 2x - 3 y = I 3 Sx - y = - 2 

I - { 4x - 5 y = 17 ~-
2x + 3y = 3 

17. { X + 2y = 3 
3x - 4y = 4 

19 J 3x - 4y = 4 
· l2x + 2y = 12 

2]. {2x = 3y + 2 
5x = 51 - 4y 

'• 

{
3x + 2y = 2 

16. 
3 2x + 2y = . 

{
2x - 9y = 5 

18. 
3x - 3y = 11 

{
3x = 7y + I 

20. I 2x = 3y -

{ 
y = -4x + 2 

22. '} 
8 2x = .Jy + 

Evalume each determinant in Exercises 23-28. 

3 () 0 4 0 0 
23. 2 1 - 5 24. 3 - 1 4 

2 5 - 1 2 
,.., - .) 5 

3 1 0 2 -4 2 
25. -3 4 0 26. -1 0 5 

-1 3 -5 3 0 4 

l 1 1 2 
,, 
.) 

27. 2 2 2 28. 2 2 
,, 

- _, 

-3 4 - 5 3 2 1 

In Exercises 29- 36, use Cramer's Rule ro solve each system. 

{ 

X + )' + Z = 0 { X - y + 2.::: = 3 
29. 2x - y + z = - l 30. 2x + 3y + z = 9 

-x + Jy - z = -8 - x - y + 3z = 11 

{ 

4x - Sy - ~z = - 1 
31. X - 2y - ).::: = - 12 

2x - y = 7 

{

x+ v+ z= 4 

33. X - 2 )' + Z = 7 

X + Jy + 2z = 4 

35. { X + ') V -
2

~ = : 

2x + 3y - 13 

{ 

2x + 2y + 3z = 10 

34. 4.r - y + .::: = - 5 

5.r - 2r + 6z = 1 

{ 

3x + 2z = 4 

36. Sx - v = - 4 

4y + 3z = 22 


